


P.2

X 2




P.3

X 2

/a4

X 2

7 x3




P.4

A M6 B M6Xx40 C M6Xx28 | D M6X50 M6 |F M6X12 |G M5x40 | H M4X16 | | J
< <)
= = @) & |
8 PCS 27PCS | 28PCS 5PCS 16 PCS | 22PCS | 2PCS 4 PCS 2 PCS
K L M3.5X12 M M3.5X14 | N o) P M4x10 | QM6X12 | RM5X42 | S@18X10 ., .,
4\
g Em Em
1 SET 2 PCS 2 PCS 5PCS 1PC 6 PCS 4 PCS 4 PCS 4 PCS
M6







P.6

1.M: iters needing attention

Be sure to use the proper screws to avoid damaging the parts

X \/

Wrong screws can cause the plank to crack The right screw is the right size

Matters needing attention

(1)When installing the screws in the installation step,
the screws do not need to be tightened.
After this installation step is confirmed and the holes are aligned,
then tighten all the screws.

(2)If the screws are tightened during the installation process,
it will cause problems such as misalignment of the screw
holes and misalignment of the board in subsequent installations.

Do not tighten the screws| "

Screw down




O
ption A

W




Aé

A®

A®

A&

X 2




P.9
B M6X40
1 PCS

4 PCS
B M6X40




P.10

C M6X28

@5555

4 PCS

D M6X50

2 PCS




P.11

{ " The iron mesh can be B M6X40
installed left and right

8 B Mé6x40 D Mexs0 E M6




P.12

9 F M6X12
Notice the hole faces back







P.14

C M6Xx28




P.15

G M5x40

0
.
0
:
|
|
|
|
|
|
|
5
‘
|
‘ g
|
|
|
|
p
é ]
0
0
0




P.16

C M6Xx28




P.17

G M5x40




P.18

e

G M5x40







P.20

1 7 G M5x40




P.21

B M6X40




P.22

H M4X16

2 PCS

%4

1 SET

L M3.5X12




P.23

20 Press and holdthe black smallaccessory at thebottom of the | K M M3.5X14
door panel andpush it inwardto align with thehole o




P.24

21

v

B M6X40

AY
\
AY
AY
\
AY
\
AY
AY
AY
\
AY
A\
AY
AY
\
AY
\
AY
N\ f
=7 “\
I=(/4 NS
\
AN

E=E\\ \




P.25

F M6X12

.
Q
Q
{ :
Q
.
Q Q
N '»
(=)

i«

NN
gy




P.26

F M6X12

/
o




24
C
M
6X28
E
M6

Q
N °
Q /
Q
-
Q
©
©
Q
Q
>
©
Q

Q
/
u
=)

&

/

&




P.28

C M6Xx28

13 PCS

25

~,




P.29

1PC

5 PCS

/ /w/

A

7

\

Tear off the tape and apply it to the
plate,Then press it firmly with your hand

263
o

o




P.30

27

R M5X42

S 915X10




P.31

F M6X12




P.32

P M4X10

30

®‘~§§

~
legal A4 letter

<>

P

P M4X10

K

)

@@

2 PCS

Q M6X12

X

<>

(T

4 PCS







Option B




Aé

A®

A®

A&

X 2




P.36

B M6X40

4 PCS

B M6X40

1 PCS




/ P.37

C M6X28




P.38

The iron mesh can be
installed left and right

B M6X40




P.39

F M6X12

Notice the hole faces back




P.40

B M6X40




P.41

C M6Xx28




P.42

(@

G M5x40




P.43

55

%\w“\\

C M6Xx28




P.44

G M5x40




P.45

1 5 G M5x40







P.47

G M5x40







P.49

H M4X16

2 PCS

%4

1 SET

L M3.5X12




P.50

20

Press and holdthe black smallaccessory at thebottom of the
door panel andpush it inwardto align with thehole

M M3.5X14




P.51

21

v

AY
\
AY
AY
\
AY
\
AY
AY
AY
\
AY
A\
AY
AY
\
AY
\
AY
N\ f

=7 “\
I=(/4 NS

B M6X40

A X




P.52

\\

S

S
il

F M6X12




P.53

M6X12
F

-
-

g

.

@ \\\\ p
Giy
F \\ 3




WV

)

P

\

~ """'w,,,@

8
X2
M6

C




P.55

C M6Xx28

13 PCS

25




P.56

O
(o
@)
o)
O
o
0
Z
©
c
(qv)
i -
O o
£ 3
..nluy
- O
s
> =2
S >
© &
-
.mﬁ
o =
(7))}
L »
g 2
._n_lu.p
-
S0
y— C
o -
- O
o ©
= o
2
O ™
[@\|




P.57

27

R M5X42

S 915X10




P.58

F M6X12




P.59

P M4X10

i

)

@@

4 PCS

30

®‘~§§

S~
legal A4 letter

<>

P

P M4X10

¥

)

@@

2 PCS

Q M6X12

X

<>

(T

4 PCS







